6/3 (L) FlEEEF A 2 —LiFks (N4 3 LELFERS)

® B % 7l FE - FR ER - B
KE [EH 3FEHRER 117 19 (+1.5)
HLE K 3FEHRER 10” 96 (+1.5)
T HHIE | 3FEHER 10”7 94 (+1.5)
FE Bs | 2E20ER 117 00 (+1.5)
WA EH | 2 EEKBER 117 11 (+0.8)
FHF EZE 1 FhE#R 117 11 (+0.8)
SN IFEEER 117 27 (+0.8)
BF100m gL A | 3ELER 117 29 (+1.5)
BHEF B 2 FEEF 117 61 (+1.3)
NI 245 IFEEER 117 03 (+1.3)
ER BB | 2EKBR 117 73 (-05)
2~ Emd 1 FEER 11”7 45 (+0.1)
£MH #edk 1 FEER 12”7 12 (+0.8)
F 5 e IFEEER 12”7 45 (-0.6)
RN 1 FEER 127 15 (+0.2)
K& B | 3EGHER 22”7 57 (+0.9)
WA =W | 2F56FE R 227 40 (+0.7)
FE Es 2 FERER 237 63 (+0.4)
BF200m R BT | 2&2EER 23”7 92 (+0.3)
IGES PN IFEEEFR 22” 88 (+0.3)
2z Et 1 F=EER 23”7 51 (+0.3)
WA BEREA | 1 =E@Er 24”7 23 (+0.5)
Nk ##H | 3ELER 52” 53
HE WK | 3EKBER 56”7 62
=K = 1 F=REHR 55” 46
SF400m LA KRB | 1 EE@ER 54”7 60
E K | 1EEER 56”7 71
B0 ME | 1ETER 59” 74
R HE 1 E=HER 58” 07
SH AL | SEEZER 157 76 (+0.2)
B8F110mH B X | 3EGEBER 157 93 (+0.2)
BA BE | 1E4KER 16”7 77 (-0.5)
B B (3FELER)
WA EZ:H (2FEEFFRD)

BEF4x100m

T
hFE EZ

HIE (3FEFEBRD
(1FHFEBRD

427 60




B B% (25480
X BEH (3FEEFEBER)

FTAXLOOM g A (3@mmm 12780
FE WK (3FEEBRD
EFESB HA B 1 FHEHR 1m75
o A BE | 2 E6ER 11m56 (+0.2)
57 = &k
L BA IFEEER 12m6 3 (-0.3)
BEFHER s B4 1 FE@F 22m1l4
FF0YE HE it 3FEER 43mb8
wH mRE | 2 #8EER 137 22 (+0.8)
A BwE 1 FkE#R 137 07 (-0.8)
A EH 1 FEmEE 13”7 97 (+0.7)
ZF100m BEM B | 25%EM 137 74 (+0.7)
5 b 1 FHEHR 13”7 26 (+0.1)
= guy:::: 1 FE@F 13”7 49 (-2.2)
s 29 1 FEmE 13”7 85 (-2.2)
= BT 1 FEmE 30”7 41 (+1.4)
©F200m KxHEOE | 1EtER 28”7 25 (-0.8)
RO 1 FEmE 28”7 11 (-0.8)
TR 2 1 FE@F 29”7 52 (-0.8)
AR EfE | 2F:EER 17 02” 66
=HH tE 1 FEmH 17 02”7 61
£F400m EAR OB 1 FEmE 17 05”7 93
FAR T 1 FhE# 17 03”7 55
WA BhE | 2E5EBR 17 04” 45
HE & 1 FEmE 1 137 15
ZF100mH KHEOE | 1EEER 16” 56 (+1.3)

A (1588
=i BwE (1F6F8)

ZF4x100m - g (1 mER) 50” 85
W ERE (2 EEER)
TR E (1 EEBE)
sm b (1EEER)
AFAXLTO0M ) v = (2 6mmR) e 6l
Bh TR (1ERER)
S AT <7 | 1GEEn TYE
7 = E& Bk A X7 1 FE 88 I9m81 (+2.3)




